VIRGINIA HIGH SCHOOL LEAGUE

2008-09 VARSITY SCHOLASTIC BOWL

MATCH 26
First period: 15 tossups, 10 points each
1.
 Its website reminds people that owning a dog is a major responsibility. Name this 2008 film whose soundtrack includes the songs "Pretty Woman" and "Tequila" and whose voices include Cheech Marin, George Lopez and Drew Barrymore as the small canine Chloe.

ANSWER: Beverly Hills Chihuahua 

2.
In the novel The Wonderful Wizard of Oz (which is not necessarily the same as the famous Judy Garland movie), the Cowardly Lion ends up in his rightful place as "King of beasts" after he kills a giant specimen of--what type of animal, also represented in literature by Charlotte and Aragog?

ANSWER: spider
3. 
She graduated with a journalism degree from the University of Idaho and married a man who is now a 4-time champion of the Iron Dog snowmachine race. Name this woman who reached her current political post by defeating incumbent Frank Murkowski after spending time as the mayor of Wasilla, Alaska. 

ANSWER: Sarah Palin
4.
Created as a natural pesticide and sometimes known as "guaranine" [GWARR-a-neen], the synthesis of its chemical formula C8H10N4O2  in the early 20th century earned Emil Fischer a Nobel Prize (and may have helped him work a lot of late nights in the process). Name this substance, found in some aspirin tablets and in drinks like Dr. Pepper and Mountain Dew.

ANSWER: caffeine
5.
In extensible HTML, you have to add a slash (or end tag) to it at the end to go to the next line; in regular HTML, you can leave the slash off. Give this 2-letter alphabetic command, used to insert a line break into a web page.

ANSWER: BR
6.
It was the last word Helen Keller remembered after she became blind and deaf when she was 19 months old. Give this common 5-letter word that, in the movie version of her life, is the first word that Annie Sullivan succeeds in matching with something Helen can touch.

ANSWER: water
7.
  THIS IS A 10-SECOND COMPUTATION QUESTION.  A circle with a 4-inch radius completes a full revolution every 5 seconds. In terms of π, how far does each point on the circle travel in one minute? 

ANSWER: 96π inches (2π x 4 x 12)

8.
 As a young man, he spent time as George Washington's secretary; as an older man, he wrote Washington's Farewell Address. In between, he signed the U.S. Constitution, served as the first Secretary of the Treasury and wrote many of the Federalist Papers. Name this statesman whose picture still appears on the $10 bill.

ANSWER: Alexander Hamilton
9.
 In geology, it can be a very long time. In astronomy, it can last for years. In sports, it can last between 12 and 20 minutes. Give this 6-letter word that can also mean "a row of chemical elements" or "the punctuation mark at the end of this sentence."

ANSWER: period
10.
 The U.S. Patent Office does not grant patents to any "perpetual motion machine" that claims to create more energy than it uses. Which basic law of physics is most likely to be broken by something claimed to be a perpetual motion machine?

ANSWER: law of conservation of energy (or first law of thermodynamics) (which says in effect, " No machine can create more energy than it uses.")

11.
 His rich older brother is dead but appears in flashbacks.  His younger son wants to be a party animal. His oldest son caught him having an affair. No wonder he wants to kill himself! Name this character whose long-suffering wife Linda pays their mortgage off at the end of the play Death of a Salesman.

ANSWER: Willy Loman (accept either) 

12.
He and his family were killed after his cousin George V refused to let him move in to escape the revolution in his home country. Name this ruler who was exiled, executed by firing squad with his family in July 1918, and buried in a Siberian swamp.

ANSWER: Czar Nicholas II


13.
They usually have three pollen pores and four or five flowers, and their 200,000 species include the geranium, the daisy, the potato, the rose and the apple. Identify this group of flowering plants, named for their pairs of embryonic leaves.

ANSWER: dicots (or dicotyledons [dye-cot-a-leed-unz])

14.
"They Say It’s Wonderful", "The Girl That I Marry", "My Defenses Are Down", "I'm An Indian Too", "Buffalo Bill", "I Got the Sun in the Morning", "Doin' What Comes Naturally" and "There's No Business Like Show Business" are all songs from---what Broadway musical whose title character is a well-known sharpshooter?

ANSWER:  Annie Get Your Gun
15.
He says (among other things), "I will wear my heart upon my sleeve for [birds] to peck at" and calls jealousy "the green-eyed monster." Name this Shakespeare character who creates intrigue throughout the story of Othello and is wounded by Othello just before Othello kills himself.

ANSWER: Iago
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Name the U.S. President during the French Revolution of 1830.
  

ANSWER: Andrew Jackson 

1B.
Name the animal missing in this title from Rudyard Kipling's Just-So Stories: How the [blank] Got His Spots
ANSWER: Leopard
2A.
Identify the National Hockey League team that plays its home games at the Xcel Energy Center.

ANSWER: Minnesota or Wild 

 2B.
Identify the National Hockey League team that plays its home games at TD Banknorth Garden.

ANSWER: Boston or Bruins
3A.
To the nearest degree, give the approximate angle between either hydrogen atom and the oxygen atom in a molecule of water.  

ANSWER: 104° or 105° (the actual number is 104.5°)

3B.
The Lend-Lease Act that allowed the U.S. to supply material to the British during World War II was signed in--what year that saw the U.S. officially enter that war? 

ANSWER: 1941
4A.
Name the animal missing in this title from Rudyard Kipling's Just-So Stories: The [blank] That Stamped.

ANSWER: Butterfly
4B. 
Though 16th-century astronomer Nicolas Copernicus got some things right about the solar system, he still believed in--what incorrect principle, developed anciently, that describes celestial bodies with smaller orbits traveling around the circumferences of larger orbits?  

ANSWER: epicycles

5A.
THIS IS A 20-SECOND COMPUTATION QUESTION. Quantity A is 6 squared, times 8.  Quantity B is 4 times the quantity (the square root of 144). In lowest terms, calculate the value (Quantity A over Quantity B). 
ANSWER: 6 (288/48)

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION. When x is 2, evaluate the function "f of x" if "f of x" = 4x3 - 8x2 + 16x - 32.
 

ANSWER: zero (32 - 32 + 32 - 32)

6A.
During 2008, the American Film Institute chose its top-rated romantic comedy movie ever. Name this classic film that stars Charlie Chaplin as a tramp who falls in love with a blind girl.

ANSWER: City Lights
 6B.
 During 2008, the American Film Institute chose its top-rated mystery movie ever. Identify this film, directed by Alfred Hitchcock, that features a retired policeman who has a condition that makes him dizzy.

ANSWER: Vertigo
7A.
 What U.S. state contains the lake known as Mille Lacs [lax], whose name means "1,000 Lakes" in French? 

ANSWER: Minnesota 

7B.
 Give the part of your body expressed by the Spanish word "brazo" [BRAW-so].

ANSWER: arm
8A.
 Since a donkey has 62 chromosomes and a horse has 64, how many chromosomes must a mule have?

ANSWER: 63
8B. 
Name the U.S. state where you'd find the UNESCO World Heritage site Waterton-Glacier International Peace Park.  

ANSWER: Montana
 9A.
In theater, give the term for the process of putting actors in the correct positions on the stage.

ANSWER: blocking
9B.
Within 10, give the highest top number (or "systolic" number) for human blood pressure that is considered "normal" by most doctors.  

ANSWER: 120 (accept 110-130)

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Calculate the logarithm, in base 2, of 4 to the 14th power.    

ANSWER: 28 [414 = (22)14 = 228, so log base 2 is 28)

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Simplify the expression "sine-squared of (2π/3) + cosine-squared (3π/4)".  

ANSWER: 1.75 or 1 ¾ or 7/4  (3/4 + 1)

Third period, 15 toss-ups, 10 points each

1.
 UNESCO recently celebrated the 400th anniversary of what is considered the world's first opera, composed by Claudio Monteverdi. Name the opera's title character who, in mythology, received a golden lyre from Apollo and played such beautiful tunes with it that he was allowed to enter the underworld and retrieve his wife Eurydice [yoo-RID-a-see].

ANSWER: Orpheus (accept Orfeo [the opera] before "character" is read)

2.
When referencing an encyclopedia article using the Chicago (or Turabian) [ta-RAY-bee-un] style of listing bibliographic references, what 2-letter Latin abbreviation, written with a dot after each letter, is used to indicate which article in the encyclopedia was used?

ANSWER: s.v. [meaning "sub verbo", or "under the word"]

3.
He won a Nobel Prize for developing optical precision instruments that helped bury the theory that light travels through an "ether" of some sort.  Name this physicist whose interferometer [in-ter-fa-ROM-ma-turr] was built with the help of his partner Edward Morley.

ANSWER: Albert A. Michelson
4.
The 2008 video game with this title is subtitled The Science of Evil. Name this film whose 2004 original that featured Rasputin was followed by a 2008 sequel subtitled The Golden Army that features an Angel of Death, as well as Selma Blair in the role of Liz Sherman and Ron Perlman as the "devilish" title character.

ANSWER: Hellboy
5.
He spent his final years working on an AIDS vaccine but had less success with that than he'd had as a Pittsburgh professor in the 1950's. Name this scientist who refused to patent his "killed" vaccine for polio, which was released seven years before the Sabin version of the polio vaccine.

ANSWER: Jonas Salk
6.
It became independent from Portugal in 1975, but Portugal is still its major trading partner and Portuguese is still its official language.  Name this set of islands off the west coast of Senegal that joined the World Trade Organization in the summer of 2008 and has its capital city at Praia.

ANSWER: Cape Verde Islands

7.
 THIS IS A 10-SECOND COMPUTATION QUESTION.  Consider the equation "the quantity (x + 3) squared, over 9, minus the quantity (y + 1) squared, over 16, equals 1".  What kind of conic section would have this equation?

ANSWER: hyperbola
8.
 Its oldest son Seymour commits suicide in a story called "A Perfect Day for Bananafish". Give the last name of this family created by J.D. Salinger that includes the parents Bessie and Les and their 7 children, including two nicknamed "Franny" and "Zooey".

ANSWER: Glass
9.
 His daughter Horatia was the result of his affair with Lady Emma Hamilton. Name this one-eyed one-armed Naval officer who, in 1805, lost his life after leading the British to victory at the Battle of Trafalgar.

ANSWER: Lord Horatio Nelson
10.
 Used nowadays as a tree stump remover, it has long been used to make gunpowder. Name this chemical, found in both animal manure and human urine, that is often called "saltpeter".

ANSWER: potassium nitrate or KNO3 (accept "saltpeter" before it is said)

11.
 Two answers required! The Preamble to the U.S. Constitution gives six specific reasons for which the Constitution was ordained and established, one of which was to "secure the Blessings of Liberty to ourselves and our Posterity." Name any two of the other five reasons; to get credit, you must give the specific phrase word-for-word.

ANSWER: to form a more perfect Union, to establish Justice, to insure domestic Tranquility, to provide for the common defense, to promote the general Welfare

12.
He was the subject of the 1929 film Black and Tan that got its name from his piece "Black and Tan Fantasy".  Name this black bandleader whose long jazz career included a stretch as bandleader of New York's Cotton Club Orchestra in the late 1920's.

ANSWER: Edward "Duke" Ellington
13.
Existing since shortly after World War I, it was broken into pieces again during World War II and later reassembled under the leadership of Josef Tito. Name this European country that existed until 2003, when what was left of it had its name changed to "Serbia and Montenegro".

ANSWER: Yugoslavia 


14.
THIS IS A 10-SECOND COMPUTATION QUESTION. If f of x = 6 + A times the quantity (5x + 7) - B times the quantity (2x - 8), give the value of B (in terms of A) when f of 1 equals 6.


ANSWER: B = -2A  [A (5x + 7) = B (2x - 8), so when x = 1, 12A = -6B] 

15.
Its title character lives near St. Petersburg, Missouri until he breaks away from his alcoholic "Pap" and goes off on the Mississippi River. Name this classic novel that begins, "You don't know about me without you have read a book by the name of The Adventures of Tom Sawyer; but that ain't no matter."

ANSWER: The Adventures of Huckleberry Finn 
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
 Within what geologic period do we now live that is part of the Cenozoic Era?

ANSWER: Quaternary period

2.
The sayings of King Solomon comprise the majority of chapters in--what Old Testament book?

ANSWER: Proverbs
3.
The Cuban missile crisis ended in the fall of--what year, 13 months before John Kennedy was assassinated?

ANSWER: 1962
4.
Name the character that is both the name of a satellite of the planet Uranus and the youngest and the nicest of King Lear's daughters.

ANSWER: Cordelia 
5.
Give the common legal term for "oral evidence given under oath by a witness".
ANSWER: testimony
END OF MATCH 26
© 2008, Avery Enterprises, Inc.                                                 Page 7 of 7
 www.averyenterprises

